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Haryana Staff Selection Commission

Notations:
1.Options showr in green color and with W iron are correct.

2 Options shown in red color and with # icon are incorrect.

Subject Name: CAT 4 Junior Scale Stenographer English CET Exam
Total Marks: 200

Display Marks: Yes

Calculator: None

Magnifying Glass Required?: No

Ruler Required?: No

Eraser Required?: No

Scratch Pad Required?: No

Rough Sketch/Notepad Required?: No

Protractor Required?: No

CAT 4 Junior Scale Stenographer English CET Exam
Group Marks: 200

CAT 4 Junior Scale Stenographer English CET Exart

Section Marks: 200
Display Number Panel: Yes
Group All Questions: No

Question Number : 1 Question Id : 260269101 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Hansi served as the capital of the territories acquired by:
Options:

L % Begum Samru

-  George Thomas

- % Ghulam Qadir

4 % Hasan Khan Mewati

Question Number : 1 Question Id : 260269101 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 2 Question Id : 260269102 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The personal allowance of Shah Alam was raised by British East India Company from the land known as:
Options:

1 % Ahirwal

o  Assigned Tetritory

= % Mewat

4 % Shekhawati

Question Number : 2 Question Id : 260269102 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 3 Question Id : 260269103 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Who among the following was responsible for the restoration of the Old Firozshah Canal?

Options:
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1 « Charles Metcalfe
> % Dalhousie
= % John Lawrence

4 % Seton

Question Number : 3 Question Id : 260269103 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:
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Question Number : 4 Question Id : 260269104 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Tafzal Hussain’s actions in 1857°s revolt were mainly focused in:

Options:
1 % Ambala
> % Gurugram

o Jind

4 « Rohtak

Question Number : 4 Question Id : 260269104 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

m185?$%@gﬁma§ﬁﬂmmgmm@w*w%ﬁﬁm
Options:
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Question Number : 5 Question Id : 260269105 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Theme State for 315! Surajkund International Crafts Mela was:

Options:
1 % Jammu and Kashmir

> % Gujarat

= % Uttar Pradesh

4 + Jharkhand

Question Number : 5 Question Id : 260269105 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:
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Question Number : 6 Question Id : 260269106 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Swachh Shakti Saptah, a programme by the Union Government to recognise the role of women in the Swachh Bharat
mission, was launched in the district of Haryana.

Options:
1 % Karnal

-~ % Sonipat
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5  Gurugram

4 % Faridabad

Question Number : 6 Question Id : 260269106 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 7 Question Id : 260269107 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The 1° Haryana Sahitya Sangam was inaugurated by
Options:

, w Captain Abhimanyu

- % Kaptan Singh Solanki
= « Manohar Lal Khattar

4 % Narendra Modi

Question Number : 7 Question Id : 260269107 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 8 Question Id : 260269108 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Harvana recently became the Open Defecation Free (ODF) state in India.
Options:

> x 6

5 % 3%

g an

Question Number : 8 Question Id : 260269108 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:
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Question Number : 9 Question Id : 260269109 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

“Roobaiyaat’” was written by:
Options:

1 Khwaja Altaf Hussain Haali
> % Hussain Baksh

=z % Muhammed Afzal

4 % Sannat Sadullah
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Question Number : 9 Question Id : 260269109 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 10 Question Id : 260269110 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Who among the following was the first to be honoured as the State Poet of Urdu in Harvana?

Options:
, « Anupchand Aftab

> % Sannat Sadulla
% % Sheikh Bahauddin Chishti

4 % Sheikh Abdul Qaboos

Question Number : 10 Question Id : 260269110 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 11 Question Id : 260269111 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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‘Yuddha Charita’ was written by:
Options:
1 +« Khushiram Sharma

> % Bhai Parmanand
= % DBastiram

4 % Rajaram

Question Number : 11 Question Id : 260269111 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 12 Question Id : 260269112 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What percentage does Harvana constitute as far as the total area of the country is concerned?

Options:

Question Number : 12 Question Id : 260269112 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:

L« 1.3%
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> % 2.5%
5 % 3.8%

L % 4.2%

Question Number : 13 Question Id : 260269113 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The height of the Aravallis in Haryana varies from:
Options:

1 « 200 to 500 metres

- % 400 to 700 metres

= % 600 to 800 metres

4 % 750 to 900 metres

Question Number : 13 Question Id : 260269113 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T # 3Eeh 99a fr FEE §

Options:

; v 200 ® 500 Hrex
> % 400 & 700 #HreX
- » 600 & 800 #HreX

, % 750 & 900 Hrex

Question Number : 14 Question Id : 260269114 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which is Harvana’s main seasonal river?
Options:
1 % Saraswati

o % Yamuna

5 « Ghaggar
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4 % Markanda

Question Number : 14 Question Id : 260269114 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:
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Question Number : 15 Question Id : 260269115 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In the Rajiv Gandhi government, who served as the union cabinet minister and held various portfolios including
agriculture, and environment and forest?

Options:
1 % BansiLal

> % O.P. Chautala

-  DBhajan Lal

, % Hukum Singh

Question Number : 15 Question Id : 260269115 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 16 Question Id : 260269116 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A total of 1,351 candidates, of which were women, contested for the 90 seats, the highest number of women
candidates in Haryana assembly elections since its formation in 1966.

Options:
L % 110

5 o 116
5 % 119

4 % 126

Question Number : 16 Question Id : 260269116 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:

1 = 110
> « 116
= % ‘119

L % 126

Question Number : 17 Question Id : 260269117 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following districts is not in the Hissar administrative division?
Options:
1 « Rewari

- w Fatehabad
T & Jind

4 % Sirsa

Question Number : 17 Question Id : 260269117 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:
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Question Number : 18 Question Id : 260269118 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In the state assembly elections that took place in Haryana in 1967, emerged as the winning party only to rule for
about 224 days.

Options:
, w Bharatiya Lok Dal

- » Haryana Vikas Party

-  Vishal Haryana Party

4 % Janata Party

Question Number : 18 Question Id : 260269118 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 19 Question Id : 260269119 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following is located at Ban Santour in Yamunanagar district?

Options:
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, + Elephant Rehabilitation and Research Centre

» % Conservation and Breeding Centre for Peafowl and Chinkara

- » vulture Conservation Breeding Centre

4 % Pheasant Breeding Centre

Question Number : 19 Question Id : 260269119 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 20 Question Id : 260269120 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The population growth rate of Haryana during the period 2001 to 2011 as per the 2011 census was

Options:
1« 19.90%

> % 15.01%
s % 12.70%

4 % 10.50%

Question Number : 20 Question Id : 260269120 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

2011 Fr FATOET F HFARX 2001 T 2011 F 33 F e gRaoT Fr FHEET FE o

Options:

v 19.90%
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. % 15.01%
2 % 12.70%

. = 10.50%

Question Number : 21 Question Id : 260269121 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

is NOT a major source of pollution discharging into the river Ghaggar.

Options:

| « Arsenic contamination of ground water

> % Sukhna Nalla (Parwanoo)
- % Seasonal rivulet at Pinjore. Kalka

4 % Industrial effluent of Dera Bassi

Question Number : 21 Question Id : 260269121 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 22 Question Id : 260269122 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In Harvana. the Mango Fair is celebrated in the month of:
Options:
1« July

> % September
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3 % March

4 % April

Question Number : 22 Question Id : 260269122 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 23 Question Id : 260269123 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In Haryana. the Masani fair is celebrated to worship:

Options:
1 % The Goddess of wealth

-  The Goddess of small-pox
=z % Lord Vishnu

4 % Lord Krishna

Question Number : 23 Question Id : 260269123 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 24 Question Id : 260269124 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Sannehit Sarovar is located in:
Options:
1 % Faridabad

- % Ambala
= « Kurukshetra

, % Panipat

Question Number : 24 Question Id : 260269124 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 25 Question Id : 260269125 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In Harvana. Baisakhi is celebrated in:
Options:

, » February

> % May
= % March

4 o April

Question Number : 25 Question Id : 260269125 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:

1 % TR
2%
5 % AR
4 v A

Question Number : 26 Question Id : 260269126 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Stroke represents the short form ‘care’.

Options:
1 & K

2 v Kr
= % Cr

4 % C

Question Number : 26 Question Id : 260269126 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Stroke represents the short form ‘care’.

Options:
1 & K

2 v Kr
= % Cr

4 % C

Question Number : 27 Question Id : 260269127 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In words of one syllable. a stroke is generally halved to indicate a following *d’.

Options:
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| « Heavy
- % Doubled
3 % Halved

4 = Light

Question Number : 27 Question Id : 260269127 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In words of one syllable, a stroke is generally halved to indicate a following *d’.

Options:
| « Heavy

- % Doubled
3 % Halved

4 = Light

Question Number : 28 Question Id : 260269128 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A right semi-circle represents w followed by a vowel in words like “woodwork’.
Options:
1 « Dash

> % End

- % Diphone

, # Diphthong

Question Number : 28 Question Id : 260269128 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A right semi-circle represents w followed by a vowel in words like *woodwork’.
Options:
1 « Dash

> % End

CAT 4 Junior Scale Stenographer English CBT 7th Nov 2017 Shift 3



CAT 4 Junior Scale Stenographer English CBT 7th Nov 2017 Shift 3
- % Diphone

, # Diphthong

Question Number : 29 Question Id : 260269129 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Alan r 1s used before |.
Options:

1 % Curved

- % Downward

5  Upward

4 % Horizontal

Question Number : 29 Question Id : 260269129 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Alan r 1s used betore j.
Options:

1 % Curved

> % Downward

5  Upward

4 % Horizontal

Question Number : 30 Question Id : 260269130 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The word “occupy™ is written the line.
Options:

1 « Above

> % On

- % Ihrough

4 % Under
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Question Number : 30 Question Id : 260269130 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The word “occupy™ is written the line.
Options:
1 « Above

> % On

5 % [Ihrough

4 % Under

Question Number : 31 Question Id : 260269131 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The st loop is not used when a occurs between s and t.
Options:
1 % Stroke

> « Vowel
5 % Loop

4 % Circle

Question Number : 31 Question Id : 260269131 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The st loop is not used when a occurs between s and t.

Options:
1 % Stroke

> « Vowel
5 % Loop

4 % Circle

Question Number : 32 Question Id : 260269132 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

We do not use rt and rts standing alone as to avoid confusion with

Options:
1 % Should

CAT 4 Junior Scale Stenographer English CBT 7th Nov 2017 Shift 3



CAT 4 Junior Scale Stenographer English CBT 7th Nov 2017 Shift 3

o R Of
3 « And

4 % To

Question Number : 32 Question Id : 260269132 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

We do not use rt and rts standing alone as to avoid confusion with
Options:

1 % Should

o W Of

3 « And

4 ®% To

Question Number : 33 Question Id : 260269133 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

M intersection is used while writing

Options:
, % Multiply

> % Member

5 Manager

4 % Mailer

Question Number : 33 Question Id : 260269133 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

M intersection is used while writing
Options:
, % Multiply

> % Member

5 Manager
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4 % Mailer

Question Number : 34 Question Id : 260269134 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

“Thereafter is a consonant.

Options:
1 % Double

>  Compound
- w Single

4 % Simple

Question Number : 34 Question Id : 260269134 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

“Thereafter is a consonant.

Options:
1 % Double

>  Compound

5 x Single

4 w Simple

Question Number : 35 Question Id : 260269135 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

B on the line is a short form for
Options:

1. v Be

-~ % But

3 % Tobe

4 % Bank

Question Number : 35 Question Id : 260269135 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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B on the line is a short form for

Options:
1.« Be

~ % But
3 % Tobe

4 % Bank

Question Number : 36 Question Id : 260269136 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The final s circle 1s written the f or v hook.
Options:

,  Ontheupper side of

> % Before
3 « Inside

4 % Above

Question Number : 36 Question Id : 260269136 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The final s circle is written the f or v hook.
Options:

. » Ontheupper side of

- % Before
3 o Inside

4 % Above

Question Number : 37 Question Id : 260269137 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In a simple t, the shun hook is written on the side.

Options:
1 % Left
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5 % Jpper
z % Below

4  Right

Question Number : 37 Question Id : 260269137 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In a simple t, the shun hook is written on the side.

Options:
1 % Left

5 % Upper
z % Below

4  Right

Question Number : 38 Question Id : 260269138 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The sounds heard in shorthand are divided into vowels.

Options:
1 & 4

2.« 12
o W 8

g W 16

Question Number : 38 Question Id : 260269138 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The sounds heard in shorthand are divided into vowels.
Options:

1 % 4

o o 12

= % 8

g W 16
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Question Number : 39 Question Id : 260269139 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The short form “the” in a phrase is represented by a
Options:
1 % Dash

-~ % Dot
3 o Tick

4 % Vowel

Question Number : 39 Question Id : 260269139 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The short form “the” in a phrase is represented by a

Options:
1 % Dash
- % Dot

3 « Tick

4 % Vowel

Question Number : 40 Question Id : 260269140 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

“is a5’ Is 4 circle written on the line.

Options:

1w Large
>  Iny
= % Thin

4 % Thick

Question Number : 40 Question Id : 260269140 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

“js as” 154 circle written on the line.

Options:
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|« large

o Thin

4 % Thick

Question Number : 41 Question Id : 260269141 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the right word given below to fill in the blank.

D

Options:
1 ® A

E.WB
3 % C

4.« D

Question Number : 41 Question Id : 260269141 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Select the right word given below to fill in the blank.

e

D

Options:
1 ® A

E_WB
3. % C

4.+ D

Question Number : 42 Question Id : 260269142 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

Select the right word given below to fill in the blank.

i . A .
2 3 7 L
il

A o]

B

C J

D

Options:
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>« B
3%':

4 % D

Question Number : 42 Question Id : 260269142 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the right word given below to fill in the blank.

et B

- -

D —_—

Options:
1 #® A

>« B
E.WC

4 % D

Question Number : 43 Question Id : 260269143 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Select the right word given below to fill in the blank.

fo N A — a
P | — ~ 2y

L

Options:
1.¥ A

E_QEB

Question Number : 43 Question Id : 260269143 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the right word given below to fill in the blank.

Vi - ; :b — =

# E\
}

. ) i S

s

Options:
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1.¢ A

3%':

4 % D

Question Number : 44 Question Id : 260269144 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the right word given below to fill in the blank.

o= [ \

Lo

d

0

Options:
1 ® A

E_WB

3¢ C

4 % D

Question Number : 44 Question Id : 260269144 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical
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Select the right word given below to fill in the blank.
Na? T [ "\
- b

|
i

K - S i -
=
(
5 4
c £l

.. ¥
i

Options:
1 #® A

E_WB
3¢ C

4 % D

Question Number : 45 Question Id : 260269145 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the right word given below to fill in the blank.

l T A

e & =
.."'_b‘ =)
P
B ~
= \
C _x
D
Options:
1. ¢ A
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4.$$D

Question Number : 45 Question Id : 260269145 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the right word given below to fill in the blank.

— —
% -3
B =~
i 5
C
D
Options:
1. ¢ A
o W B
T C
T D

Question Number : 46 Question Id : 260269146 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blanks in the sentence below with suitable articles. Choose vour answer firom the options given.

team at Massachusetts Institute of Technology has designed new type of micro-particle that could combine
everything into single jab.
Options:
, # The, a, the
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5 of A.aa
- % A the a

4 % The, the, the

Question Number : 46 Question Id : 260269146 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blanks in the sentence below with suitable articles. Choose vour answer firom the options given.

team at Massachusetts Institute of Technology has designed new type of micro-particle that could combine
everything into single jab.
Options:
, % The, a, the
5 o A a a
- % A the, a

4 8 The, the, the

Question Number : 47 Question Id : 260269147 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blanks in the sentence below with suitable articles. Choose your answer fiom the options given.

It’s truly worldwide plan; countries that have the highest number of wild plant cousins are Brazil, China,
and India, while countries with highest concentration of them are Azerbaijan, Portugal and Greece.
Options:

1 « 8 the, the, the
5> % & the, a, the
5 % the, a. the. a

4 % 8 8 the, the

Question Number : 47 Question Id : 260269147 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blanks in the sentence below with suitable articles. Choose vour answer fiom the options given.

It’s truly worldwide plan; countries that have the highest number of wild plant cousins are Brazil. China,
and India, while countries with highest concentration of them are Azerbaijan. Portugal and Greece.
Options:
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{ « & the, the, the
> % 8 the. a. the
5 % the, a. the. a

4 % 88 the. the

Question Number : 48 Question Id : 260269148 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blanks in the sentence below with suitable prepositions. Choose your answer from the options given.

Heart attacks occur when the supply blood the heart gets blocked. usually a blood clot.
Options:
, = of. into, through

> w of through. with

5 % in, to. by

g of, to. by

Question Number : 48 Question Id : 260269148 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blanks in the sentence below with suitable prepositions. Choose yvour answer from the options given.

Heart attacks occur when the supply blood the heart gets blocked. usually a blood clot.
Options:
, w of.into, through

- % Of. through, with

- % in. to. by

4 of. to. by

Question Number : 49 Question Id : 260269149 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blank in the sentence below with a suitable collective noun. Choose your answer from the options given.

The Andaman and the Nicobar along with Lakshwadeep are of islands.

Options:
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1 % achain

. % arange
-  anarchipelago

4 % acluster

Question Number : 49 Question Id : 260269149 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blank in the sentence below with a suitable collective noun. Choose vour answer from the aptions given.

The Andaman and the Nicobar along with Lakshwadeep are of islands.
Options:
1 % achain

. % arange
-  anarchipelago

4 % acluster

Question Number : 50 Question Id : 260269150 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A sentence is given in four pairts as options. One of the parts contains an ervor. Choose the option that has the ervor.
Options:
| « Doctor’s removed her gall bladder -

- % butafter symptoms didn't improve. she was
- % eventually diagnosed with fibromyalgia,

, % awidespread condition that affects the musculoskeletal system.

Question Number : 50 Question Id : 260269150 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A sentence is given in four paris as options. One of the parts contains an ervor. Choose the aption that has the error.
Options:
| « Doctor’s removed her gall bladder -

-~ % butafter symptoms didn't improve. she was
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- w eventually diagnosed with fibromyalgia,

, % awidespread condition that affects the musculoskeletal system.

Question Number : 51 Question Id : 260269151 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the option that offers the correct synomnym of the highlighted word in the sentence given below. Pay attention to
the meaning of the highlighted word in context of the sentence:

The letters are authentic and unfiltered. The writers knew there was no censorship here and they spoke from their
hearts.

Options:
1 + bona fide

- % poetic

- % Specious

4 w feigned

Question Number : 51 Question Id : 260269151 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the option that offers the correct synonym of the highlighted word in the sentence given below. Pay attention to
the meaning of the highlighted word in context of the sentence:

The letters are authentic and unfiltered. The writers knew there was no censorship here and they spoke from their
hearts.

Options:
1 +« bona fide

- % poetic
5 % Specious

4 w feigned

Question Number : 52 Question Id : 260269152 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the option that offers the correct antonym of the highlighted word in the senience given below. Pay attention to
the meaning of the highlighted word in context of the sentence:

Leaving school in London before he was 16, Daniel says: "I guess I was a bit of a rebel. I wanted to do what I wanted to
do.”

Options:
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1 #% anarchist
- % Opposed

5 % generous

4 « Obedient

Question Number : 52 Question Id : 260269152 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the option that offers the correct antonym of the highlighted word in the senience given below. Pay attention to
the meaning of the highlighted word in context of the sentence:

Leaving school in London before he was 16, Daniel says: "I guess I was a bit of a rebel. I wanted to do what I wanted to
do.”

Options:
1 % anarchist

> % Opposed

5 % generous

4 « Obedient

Question Number : 53 Question Id : 260269153 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below, choose the sentence that has the conjunctions used correctly.

Options:
i,
My friend is a novelist. essayist. playwright, and poet: moreover, she is a distinguished scholar.

o W
My friend is a novelist, essayist, playwright, and poet: however, she is a distinguished scholar.

- % My friend is a novelist. essayist. playwright. and poet; because she is a distinguished scholar.

4 # My friend is a novelist, essayist, playwright, and poet; so she is a distinguished scholar.

Question Number : 53 Question Id : 260269153 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below, choose the sentence that has the conjunctions used correctly.

Options:
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1.4
My friend is a novelist, essayist, playwright, and poet: moreover, she is a distinguished scholar.

2 ®
My friend is a novelist, essayist, playwright, and poet: however, she is a distinguished scholar.

- » My friend is a novelist, essayist. playwright. and poet; because she is a distinguished scholar.

4 % My friend is a novelist, essayist. playwright, and poet; so she is a distinguished scholar.

Question Number : 54 Question Id : 260269154 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below, choose the phrase that can be used to replace the highlighted word with a phrasal verb:

We worked so hard this year that we had to go on a vacation for a week.
Options:
, w» getaround

> % getaway with

5  getaway

, % getbackinto

Question Number : 54 Question Id : 260269154 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below, choose the phrase that can be used to replace the highlighted word with a phrasal verb:

We worked so hard this year that we had to go on a vacation for a week.
Options:
, % getaround

- % getaway with

5  Setaway

4 % getbackinto

Question Number : 55 Question Id : 260269155 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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From the options given below choose the one that has been spelt correctly to form a proper sentence:

We decided to lazily the entire length of the beach in Goa and enjoy the fresh air.
Options:
, % pirambulate

- % parambulate
- % purambulate

4  Derambulate

Question Number : 55 Question Id : 260269155 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below choose the one that has been spelt correctly to form a proper sentence:

We decided to lazily the entire length of the beach in Goa and enjoy the fresh air.
Options:
, % pirambulate

- % parambulate
- % purambulate

4  Derambulate

Question Number : 56 Question Id : 260269156 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Ao @da el § & dc8H 206 & JgaT]

Options:

1.33?1_'9-
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Question Number : 56 Question Id : 260269156 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A=l el § ¥ Jc8F g F JgA1a0|

Options:
1 #» HIE

> B Eﬂ:

. » [@aE

4 % Sl

Question Number : 57 Question Id : 260269157 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

=l aeel § O dFF e & Tg=fav]

Options:

1_$¢m?~|'
s v S
S_Q?U

4_%&%

Question Number : 57 Question Id : 260269157 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

=@ o=l 7 ¥ 929 UYsc F TFIIAT|
Options:

L&ﬁl’@ﬂ'

o v ST
g_ﬁ?ﬂ

4_&.&%

Question Number : 58 Question Id : 260269158 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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oW arvg #r wErar ¥ @1 5w g@rr F1 F1Y R ST § 981 FRe g

Options:

| % HATl FRF

5 % HENT FRF

4 % HFIC HH

Question Number : 58 Question Id : 260269158 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

o a5g & TeEer ¥ o 5s @ #1% F19 G S g ) R e

Options:
i.® Fal FF

5 % HENS FRF

4 % HFHACE HRh

Question Number : 59 Question Id : 260269159 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

frafof@a et & § Fia-ar a7 4= 82

Options:

- TS 1 GHA A H 70! A9 g

i ﬂ%ﬁ‘ gHAT =0T STl gl

% T & THAAT 0T AT g

, x E IH ST S gl

Question Number : 59 Question Id : 260269159 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Reafafea =t & ¥ Fia-ar a7 = 27
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Options:

- TS 1 GHA A F 70! A9 g

i %@‘ THAT =TT 9Tl gl

B TS N THAT 0T AT B

i TS TFAT =T T 2

Question Number : 60 Question Id : 260269160 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

AT TE HT T=e 0T W W § FAA-UT H 9EGd 9ied F HiA-HT FHR FAET 87

Options:
1 ® idHSR

i .

= W sfq&“

4 % 39HT

Question Number : 60 Question Id : 260269160 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A TE BT e RO @9 @ € F-ue & wega 9fed § S seeR g 82
Options:
1_&%

S .

2 R sfqan

4@33-:&?:”-

Question Number : 61 Question Id : 260269161 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

I i Rl dia‘d‘lg CSEIERECH

Y@ifea g & SiF-17 gAE gafed 872

Options:
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feeer matw

iy = s
AL

- w HcOAT AT FHATH

4 % FPHURT TATH

Question Number : 61 Question Id : 260269161 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

I =i o J:I;Hrﬁé' CEICRECH

Y@fFa oeg § SiF-ar gaw gafeg 2

Options:
1. = ‘ =2

5 o TEJTN U

5 % HeOUT AT FAH

4 % FHURT TATH

Question Number : 62 Question Id : 260269162 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

AT FT F TTHT F==T FTaT ]
@ d e HIF-T TH & TAET A9 g7

Options:

1. = EﬂTFH'

Question Number : 62 Question Id : 260269162 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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AT &7 HT STHT T=4T HI9 o]
I@Ifehd 9eg FIT-T T T T A9 27

Options:

1. = Ean_ﬂ'
2 ¥ % ™

3 ® AR

4 % 9OES W

Question Number : 63 Question Id : 260269163 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

HIA-TT e ‘FHA HT TATTET=T Fal 87
Options:

1. % EE {
o % Tehal
= W 3'1%

4_@5117:513'

Question Number : 63 Question Id : 260269163 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FIA-TT e ‘FHA FT IITIIET Aal 87
Options:

L. » EE =

5 ®% Tehel

s v W

4.uT|T:ﬂ'=I'

Question Number : 64 Question Id : 260269164 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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3 or TS [ 9EE T T A 1 e 2l

Options:
1 % Hleh hleT|

o  SE-IEERT ST HIATI

. FIOT FEA FEa|

4 % HOTEF 1T LTI

Question Number : 64 Question Id : 260269164 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

3W O TS & UEIE SATRT a91d i & JET 2

Options:
1 % H3TR HIAT|

. FET-TEET T FEAT
. w TS FEE FEe|

L % HCOTSF 1T LTI

Question Number : 65 Question Id : 260269165 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

HTIITER AT g0
Options:

1_%&%

S_QESQT

4_&qTT|ﬁ_UF

Question Number : 65 Question Id : 260269165 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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SIEEIEES Q—i-ﬁl Hﬁtllli::lkd |
Options:

1_%3:9:'%

5 of CIEIGEL

4_$@W

Question Number : 66 Question Id : 260269166 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

= - o
v2+1 32—

If F R o=
*-,-"5—1 3 } 1.-"E+

1
1

,thenx? +y% =2

Options:
1 #® 21

o W 30
= W 24

4« 34

Question Number : 66 Question Id : 260269166 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

II_ I'_

2+1 l2—1

ﬂéx:ﬂ‘l'_ . }r:“'l'_ %'!(_-h'xz-j-}:z:?
[4_ |
4\12 ] -¢2+1

Options:

1 ® 21

o B 30‘

=z ® 24

4 @ 34

Question Number : 67 Question Id : 260269167 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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The average of the sum of the first twenty-five prime numbers is:

Options:
L % 42.5

5 % 42.3
T W 42

4 424

Question Number : 67 Question Id : 260269167 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TUH TTHTH HNEST TEATHT F AT &7 g A7 e
Options:

| % 425

> % 42.3
=z B 42

4w 424

Question Number : 68 Question Id : 260269168 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

X and Y borrowed T 7.500 and ¥ 6,250 respectively at same rate of interest for 2 years. If X paid an interest of T 187.5
more than Y, then the rate of interest per annum is:

Options:
1 % 6.5%

> o 1.5%

4 % 7.3%

Question Number : 68 Question Id : 260269168 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

X 3T Y s Fr THEA T 9 2 W & v e T 7,500 3T T 6,250 3UR o 2
e X, Y ¥ T 187.5 J¥F =TT ST FIAT &, ar =31 FT I8+ T &

Options:

| % 65%
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- & 7.5%
=z ® ?%

L % 7.3%

Question Number : 69 Question Id : 260269169 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The population of a city increases by 10% each year. After how many years will the original population be doubled?
Options:
. % 8 years

5 o 7.5 years

5 % 1 years

4 % 9 years

Question Number : 69 Question Id : 260269169 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

U AT H AATEH H Iois I¥ 10% H1 g gt g1 Trasr aut & a9 Fauew Iaa7 FqaEar @
B 7 e

Options:

1 ® SEI'E‘f

>« 75 99
= ?El'é'
EE 9E|'é4'

Question Number : 70 Question Id : 260269170 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If @ and §3 are the real roots of the equation T p-2)x+ (p2 + 3p + 5) =0, where p is a real number. then the greatest

possible value of @? + B2 is achieved at p =

Options:
1. % —4
o o =

CAT 4 Junior Scale Stenographer English CBT 7th Nov 2017 Shift 3



CAT 4 Junior Scale Stenographer English CBT 7th Nov 2017 Shift 3

Question Number : 70 Question Id : 260269170 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

g FHAEOT X2 —(p—2)x +(p?+3p+5)=0 F FIEAfEF HAF a 3N g ¥ 3 p = IR
TE &, A o? + g2 F HRwaH T p = 9T greg fFaT =T OFar 2

Options:
1 *® -4

2 ¢ D
3_%0

4 % 3

Question Number : 71 Question Id : 260269171 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

x varies directly as cube root of ¥, when x = 5 and y = 3375. What is the value of y when x=1?

Options:
1 & 1/9
5 % 1/27

3_%9

4. ¢ 27

Question Number : 71 Question Id : 260269171 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

X F AR y F GAHSA F FHAGIA g eI x=53Ry=3375 81 S§ x=1 &, 99 y & HeF F4T g7’

Options:

L% 1/9

% 127
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Question Number : 72 Question Id : 260269172 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The speed of a boat in still water is 24 km/h. If the speed of the stream is 6 kin/h. in how many minutes will the boat go
18 km downstream?

Options:
1 ® 52min

5> % 48 min
% « 36 min

4 % 60min

Question Number : 72 Question Id : 260269172 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T AT &7 o I H Ter 24 fHvger g1 afe anr Fr 9 6 fFvger g, ° fhas Bee # A
sgrT H fear A 18 frer Fr gl g Fw 9

Options:

| % 52 fAee
, » 48 e
2 v 36 e

. % 60 e

Question Number : 73 Question Id : 260269173 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A can do a task in 24 days and B can do it in 20 days. They work at it together for 6 days and then A goes away. In how
many days will B finish the remaining tasks?

Options:
, % 15days
- % l4days

5 % 10days

4 o 2days

Question Number : 73 Question Id : 260269173 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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ATH FIF 24 At 7 3k B 50 =77 &7 20 25T & &7 Toar £ F 2 Boe 6 7 ug 7
FT &, A T A T I1aT B 9F I # B gy AT F gEtT w2

Options:

1 ¥ 15 fe=t
2 % 14 fe=
5 = 10 feet
4o 9 e

Question Number : 74 Question Id : 260269174 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A container has 40 litres of milk whose cost is ¥ 3.5 per litre. How many litres of water should be added to the
container such that the cost of the milk reduces to T 2 per litre?

Options:
1 & ol

Question Number : 74 Question Id : 260269174 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

v fEed F 40 X g & 5w dew 3 3.5 Wi WX &1 fFew F fraw dfex 9w smen e & ogu o w
ol " X 2 9id &Y g Sa?

Options:

1 ® 25
2 v 30
= B 28

g # 32

Question Number : 75 Question Id : 260269175 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A person bought two articles, A and B. for ¥ 3.420. He sold A at a loss of 10 % and B at a profit of 25%. If the cost

price of A was the same as the selling price of B. then what was his overall loss/profit?
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Options:

i 52% profit

a6 5;% loss

56 5%% profit

a5
i 5;% loss

Question Number : 75 Question Id : 260269175 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T TiFd & TEY, A HR B, T 3420 # TlSAr 81 9 A F 10% FMfel 3R B H 25% oy W I
& %1 T A T HT TeT B ¥ NeT 75T & WK ¢, & Fo @i/ amer wa Ao
Options:

529 wTeT
1.v 9

335;%%'@'

z.

5> 9% ST
= #® 19

5;% grfer

4 ®

Question Number : 76 Question Id : 260269176 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A block of wood floats in water such that 1/n of its volume is under water. The density of the block is 0.4 times the
density of water. The value of n is:

Options:

1 ® 0.5
o W 1.0
T W 2.0

4 o 2.5
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Question Number : 76 Question Id : 260269176 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TFEl FT U solleh Tl H SH TN T & 6 SHST 1/n A7 9= & = &1 =i &7 Oeica
9T & Teed & 0.4 IAT &1 1 F A &

Options:

1 ® 0.5
o B 1':'
T B 20

Question Number : 77 Question Id : 260269177 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An object is dropped from a height of 313.6 m. The time taken by it to reach the ground is:
Options:
1 % 4 seconds

- « 8 seconds
z % 12 seconds

4 % 14 seconds

Question Number : 77 Question Id : 260269177 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TF IEJ F 313.6 Hiex H FA5 ¥ Far Saw 71 5w FHA 9 hﬁéz&ﬁ A o1 I AT g

Options:

Question Number : 78 Question Id : 260269178 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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An object is placed on the principal axis of a convex lens at a distance less than its focal length. The image formed by
the lens is:

Options:

1 % Real and diminished

- % Realand enlarged
= % Virtual and diminished

4 v virtual and enlarged

Question Number : 78 Question Id : 260269178 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

U IEG I Iedol ofF HT Blewel oFaTs § FF GO W HET e YW 9T TG A1 g1 o F a1 a1 S
gl &

Options:

- arEdfaes R gHiEd

. % ATEdTEE AR HER F T3

e 31T AR wFREa

4 o FTHTHE T HET F T

Question Number : 79 Question Id : 260269179 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A ray of light passes from air to medium 1 (refractive index 1.7) and then into medium 2 (refractive index 1.4). As the
ray travels. it bends

Options:

, = away from the normal in both the mediums

> % towards the normal in both the mediums

- u away from the normal in medium 1 and towards the normal in medium 2

4 « towards the normal in medium 1 and away from the normal in medium 2

Question Number : 79 Question Id : 260269179 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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geRrer T R0 gaT | FI g% ATH 1 (I9Fas gEew 1.7) F IR R AnwH 2 (eds gEe 1.4)
¥ T 71 favor 3 se g TS ST 2
Options:

2 aral ATETAT # AT F g

. % G ATETAT H AT H _E

FAeIH 1 H §ART ¥ T 3R ARTH 2 #H FACT H T®

9%

, o A 1 H TR B RE AR AT 2 A AT G

Question Number : 80 Question Id : 260269180 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An object is placed at a distance of 50 cm in front of a convex mitror of radius of curvature 80 cm. Following Cartesian
sign convention, the image distance, v and the magnification, m are respectively:

Options:
, & (100/9) cm, — (2/9)
5 % (200/9) cm, — (4/9)

. % (100/9) cm, (2/9)

4 (200/9) cm. (4/9)

Question Number : 80 Question Id : 260269180 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T T 1 80 HEHET Foar FH=ar O 3eae g9T F WA 50 HEHRT F gff W @ J1ar gl
FETAA Fohed U & ofF Fr gfr, v 3R amadsr F s8R, m FAw &

Options:
. = (100/9) TéAET, —(2/9)
, « (200/9) ¥, -(4/9)

« (100/9) TR, (2/9)

=)

. v (200/9) T&HET, (4/19)
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Question Number : 81 Question Id : 260269181 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following ionic compounds has the highest melting point?

Options:
1 #® LiCl

> % NaCl
5 o Cal

4 ® CsCl

Question Number : 81 Question Id : 260269181 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

fafaflT & ¥ 5w smufes ot o7 woas =g g &2
Options:

, % LiCl

, % NaCl
= o CaO

4 % CsCl

Question Number : 82 Question Id : 260269182 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following represents the formula of an ether?

Options:
. ® RCOR
> % RCOOR

s v ROR

4 % RCHO

Question Number : 82 Question Id : 260269182 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Teafof@a & ¥ #i7 & FFeT SR # §F g &7

Options:

., » RCOR
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. » RCOOR
- v ROR

, # RCHO

Question Number : 83 Question Id : 260269183 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following represents the mass of one mole of sulphur dioxide molecules?
Options:
. % 6.4 grams

» 64 grams

Question Number : 83 Question Id : 260269183 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T & & #ia @ RFeT Temt sEaFass Rt & TF Al #1 SedA g 82

Options:
1 ® 64 aTH

=z R 32 TAH

4 #® 3.2 9H

Question Number : 84 Question Id : 260269184 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What is the functional group present in the compound CH3CHO?
Options:
1 % Ether

- % Ketone

= % Ester
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4  Aldehyde

Question Number : 84 Question Id : 260269184 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

CH3CHO #iffre & +ia a1 fharcas wxg 39faya 82

Options:

| % SR

zlwm

z # TE

4 TTesgTSs

Question Number : 85 Question Id : 260269185 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The general formula C,H,,_, represents which one of the following class of compounds?
Options:

1 % Alkanes

> % Alkenes

-  Alkynes

4 % Alkanols

Question Number : 85 Question Id : 260269185 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FHAET §F C,H,,, Fof@a # & fFa 397 & diffe #r gafar 82

Options:

1_&?@’“
EIWQ(T'@E'FH
5 o SoPlged

4 % Ushelled
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Question Number : 86 Question Id : 260269186 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

According to the Natya Shastra, compiled by Bharat Muni, which of the following is a category of wind instruments?
Options:
, w Tata Vadya

> % Avanaddha Vadya

-  Sushira Vadya

4 % Ghana Vadya

Question Number : 86 Question Id : 260269186 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

e A GFW FHlod AT MH F HJAR AT Ied # F FAEr v Iy g FroSoh g2
Options:

|« T e

. w 3EAZ FAEH
SJ@TW

, % O T

Question Number : 87 Question Id : 260269187 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In which of the following years was the *Quit India Movement’ launched?

Options:
1 ® 1940

> % 1936
2 % 1938

4 o 1942

Question Number : 87 Question Id : 260269187 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

W BIE Heow farAfarad # ¥ few av g faar mar ar?
Options:
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| % 1940
. % 1936
5 % 1938

L v 1942

Question Number : 88 Question Id : 260269188 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Keoladeo National Park. one of the world’s important bird breeding and feeding grounds, is in
Options:
, « Rajasthan

- % Gujarat

= % Jharkhand

4 % Madhya Pradesh

Question Number : 88 Question Id : 260269188 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

gfear & Ageaor el woieie AR Siee TUel § § UF Haoned TSEd 3ed

Options:
1, v T=AETd

» » T

2z % FILES

4 % FET 9

Question Number : 89 Question Id : 260269189 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

H gl

As per discussions in the GST Council Meeting held on igh May 2017, GST rate for Pizza Bread is:

Options:
1 5%

5 % 0% (Nil)
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3 % 28%

4 % 18%

Question Number : 89 Question Id : 260269189 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

18 &g 2017 &I HfAd Sead aRue & So& # g5 7= & HGER fear 95 & fov Sfewd I &

Options:
1.« 5%

. 0% ()

- % 28%

L % 18%

Question Number : 90 Question Id : 260269190 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which Schedule of the Indian Constitution gives a list of recognised languages in India?

Options:
1 % First Schedule

-  Eighth Schedule

= # Third Schedule

4 % Tenth Schedule

Question Number : 90 Question Id : 260269190 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ARATT Fiqure $r Hia-8r TEEl dRd T Agarared st Hr g gerT Fer 872

Options:

1 ® qﬁw

3o ST

o # mw
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Question Number : 91 Question Id : 260269191 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following structural and functional studies is Venkatraman Ramakrishnan associated with?
Options:
1 « Ribosome

- % Photosynthesis

5 » Cytokinesis

4 % DNA

Question Number : 91 Question Id : 260269191 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

fFalof@a & ¥ il ¥ Wadcas 3R FECHS HeTTd ¥ dhedA d THFSUA Fared 87

Options:

1. % I%Eilz H

o % eRTeT TLHWUT
5w FNAFFT [THSA

4 % BIUAT

Question Number : 92 Question Id : 260269192 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following countries hosted the 2017 FIFA U-20 World Cup?
Options:
1 +« South Korea

- % Netherlands
z % India

, » England

Question Number : 92 Question Id : 260269192 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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fA=afaf@a F @ g 29r & 2017 & Hror 3820 (FIFA U-20) feg &9 $r aseEr Fi?
Options:

1« mm
g_wm

3_&3%

4_$§1ﬁ§

Question Number : 93 Question Id : 260269193 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Who among the following was awarded the Arjuna Award for the achievements in Billiards and Snooker?
Options:
, » Edward Sequeira

- % Anthony Maria Irudayam

= « Wilson Jones

4 % Sudhir Karmakar

Question Number : 93 Question Id : 260269193 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

frafof@a & @ o Rfowsy 3k wEx & offe syafeuat & T 3wee R
T TFATAT &Far arar?

Options:

o » U AT T TH
S.gﬁm?ﬂ?ﬂ
4_Hgﬁnam‘m

Question Number : 94 Question Id : 260269194 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Name the winning team of the Ranji Trophy 2016-17.

Options:
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1 % Mumbai

- » Hyderabad

2 Gujarat

4 % Jharkhand

Question Number : 94 Question Id : 260269194 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TOTST Erhr 2016-17 Fir Tsar & &1 a5 §ar9|

Options:

lﬁﬁaé-
2. %EIEE

¥ 2 e

. » SIR@E

Question Number : 95 Question Id : 260269195 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following Indian states is associated with wooden puppets called Yampuri?
Options:
, » Gujarat

- % Tamil Nadu

-  Madhya Pradesh

4 « DBihar

Question Number : 95 Question Id : 260269195 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Feffea & & Fi9-31 aRET T=7 TAY ATHF T8 $ Heydodl § FaE 87

Options:
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o ® 2

5w FET F&r

Question Number : 96 Question Id : 260269196 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following is different from the rest?

Options:
1 % Violet

> % Red
3 « Black

4 % Yellow

Question Number : 96 Question Id : 260269196 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Taef@a § O #i9 91 % 37 SFear ¥ &= 82
Options:

1_$3§?lﬁ

o ® oflel
3« ThTCl

4_%3%

Question Number : 97 Question Id : 260269197 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the best option to complete the analogy.

Forest : Tree : : Lawn :

Options:
1 « Grass
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> % Field
%z % Garden

4 % Plants

Question Number : 97 Question Id : 260269197 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

wiE e &1 =97 T d= T # [

I FET o WA
Options:

E_W@H
5 % ST

4.2‘%%

Question Number : 98 Question Id : 260269198 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Insert the word that completes the first word and begins the second.

RA(------) ACH
Options:

1 @ RE

o B ED

S_RER

E IS

Question Number : 98 Question Id : 260269198 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

37 e # 999 FL S @E g # W A 9T 9ge AT B O FIAT 87 AR gE FOHTH FIT @

RA(----) ACH

Options:
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4 R 1S

Question Number : 99 Question Id : 260269199 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following options. when joined by each letter in the image as a prefix, forms a meaningful English word?

Options:
1 ® IKE

o R IER
= W NT

4 « OPE

Question Number : 99 Question Id : 260269199 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TR T T FT-TT v FFeT & &0 0 3999 & &9 & 2 99 W =77 § @ @ g3
T UF HIF HIAT UeE TATTT &7

H
h“—‘\-—;
R /
P

Options:
. % IKE
. % IER

z ® NT
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4 v OPE

Question Number : 100 Question Id : 260269200 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the correct option that would complete the number series below.

24,7 11, 16,2229 37T,
Options:
1 ® 39

> o 46

T W 40

Question Number : 100 Question Id : 260269200 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TET fawreT &1 IO X F & A e v smen I W

2 &4 Tk 1622, 29 3T,
Options:

1 B 39
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